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7] Focus ( -2,-4) ,vertex (-4,-4)
x—h=a(y— k)2
vertex (h, k)= (-4, -4)

Focus (h+L,k]=(—4+L,—4j=(—23—4)
4a

.. Parabola :x - h=a (y -k )2

a
x—i—4=%(y—i—4)2

X +4=—(y+4)

1
8




8 ) Focus (3,4) ,directrix 1y =1

y—k:a(x—h)2
1
4a

1
T — (1)

focus : [h,k + L):(3,4)

directrix : y =k -

4a




9) vertex (4,3) ,directrix :x=6

(h,k)

=




1@ R2(y+1)=(x-3)>

p4 1= (x—3)?

12
“= 13
h=3
k=-1

vertex : (h,k)=(3,-1)
Focus:(h,k—i—Lj=[3,—l+£j=(3,2)

4a 4
1
directrix : y=k - —
irectrix : y 1a
12
=-1-—=-1-3=-4
4

y=-4
mirror line :x =3

_ L2
y + 1 12(x 3)




njz—y:16u—3ﬂ

y —2=-16(x — 3)*

a=-16
h=3
k=2
vertex : (h,k)=(3,2)
1) 1 _ 127
Focus.[h,k—i— 4aJ_[3’2+—4X—16] [3,—64 j
directrix : y=k - L
4a
oy, 1125
T2 016 T e e
_ 129
64

mirror line :x =3

y —2=-16(x — 3)*

el

26

45



lZ]x2 +2x-y+3=0

x2+2x=y—3
A 2x+1=y-3+1
(x + 1)2=y—2
y—2=(x+ l)2
a=1
h=-1
k=2
vertex : (h, k) =(-1,2)

Focus : (h,k + L) = [

4a
directrix 1y =k — ﬁ
1 7
-y ==L
4 4

05

y—2=(x+1)>-




13]y2—4y—8x+20:0

¥ —4y=8x—20
Y —4y+4=8x—20
(y—2)>=8x—16
8x -16=(y — 2)?

x—2= (y—2)2

1
8




